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(¥) w1 faeets 2 [What is triple scalar product?]
G 1 (FICAT (SFLAT IR O UG (SRS (S/H SRR (A ST (FA el 0 |
() TEfoureia T ST W16 | [Define clastic limit.]
Te7 : oyT I W @ WE® I S ~ife @A | A fFfegw 4 one @ Ju
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() O & F? |Define 1 (one) poise.|
B&q 1 | cny/s T (I IS ATCS A SR | dyne J0T9 TAGA T, SIZG &2 ATTOTE
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@ B @ (Y| |Write down the dimension of Torque.]
©eq : 50 W@r =0 : ML} T
(%) "Mt F¥? |What is angle of contact?)
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(®) WITAIF AATST FIF 01?2 [What is polarization of light?]
Ted : fifoq o IS AR Sfte (SIS SYN@ I O SHTHFT A4 AP
AR TGO 6T |
(%) CIFICAAY A7 [What is the spherical aberration?|
Taw : A AT G @ (T o fRge S efewm 41 afevmrn o
TR ST 2T Sewe e Rrre afsi vom ot | T afsfam wfoeyf o | efsfas @2
IOCS CIECRe 90 |
(&) ot (M IS 62 |Define compound pendulum.
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(¥) TEfogri $3o FIC> =17 [Define clastic constant.]
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(w8) b &30 ToFAST F7 [What is the superposition of two waves?|
& : (Al Wey 7R 91 Srelfes waer qwioe oo Sl Afoe @ «fd wax 2 wae
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() 9t e Wl ARy TS T ST JAW=14 ACF? [What is the phase differences between
two waves of same-phase?]
B9 : 5 Sae T LA Sd-saEeacdd e eftes e ol T s =

(3) SITTIF CAFTIAIRSHT FICF ICT7 [What is optical polarizer?]
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Q1 mﬂmm,v{%}o [Show that, Vz@ﬂx]
© | T TG Y9 8 NI f[oran T Afest 99 |

[Establish a relation between gravitational field intensity and gravitational potential ]
81 RS it Arobiial et Gaml T T (FA2-TL 4 |

[Why does an astronomer feel weightless himself while he moves around the earth?]
@1 FHFSBM @ NATST AT AT 7 |

[Distinguish between interference and diffraction.]

b1 G e B e iR ReTd e W
[How does a Nicol prism work as a polarizer?]
Q1 PO WEfHE ©F I I |
[Explain the molecular theorem of surface tension.]
bl R e Sg o AT efere 7 |
[Derive the expansion for kinetic energy of a rotating body ]
51 R EE =TS r TF TR {e e afSemE 79

[Derive the expression for gravitational potential at a distance r from the center of the earth. ]
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So | GOREE Sy ﬁi@ '@ &9 9 | [State and prove Stoke's theorem. ]
3 1 (F) ¥ TR AFSTEe G PN Bt @, T ¢ S A 2ifHE 79 |
[Deduce an expression for velocity, time period and height of an artificial satellite, moving around the earth |
(¥) RAE GFE T GO 450N, FEPE OF 96 Fo? AfAAT SF ¢ JPIE AT 50hd
©9 6 FPICEA 81 &6 4 &9 |

[The weight of a man in earth's surface is 450N, What will be the weight of that man in moon's
surface? The mass and radius of earth is 81 and 4 times that of moon respectively. ]

R (F) o o F s Reepem s e savm ovm g ¢ forem 5 3189 =16 afsor =11
[What is stationary wave? Establish the mathematical conditions for creating antinodes and node
in case of stationary wave. |

(4) O SINER e *FC A SIATETT *FCAed 3.5 @9 2?2
[In which temperature the speed of sound at air medium is 3.5 times that of at normal temperature?)

3 | (F) SIS (7 FE 012 FHOT A1oq AR SAH A SFd 5@ & SATT 6
[Define optical centre. Establish the laws of reflection with the help of permit's principle?]

(4) 20 cm @R 15cm CFTFT FEAGEEE GG ATS &G T FAFOLI AT WS 10cm LA M
T, TARE (IO (RIS A o7
[Two thin double convex lenses of focal length 20cm and 15cm are kept /0cm apart from each
other coaxially. Find the equivalent focal length of that combination.]

38| (F) A 8 B I[MHE ArEe chage Wi 9 |
[Obtain the expression for area of parallelogram formed by vectors A and B
q) A FAA, A =6y2> T 4227 y - xy* k (SF4f FAwEeE |
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[Prove that the vector A = 6yz’ 7 +2¢%z j\ y—xy fis a solenoidal ]
3¢ | (F) K Prer gl a6 Ferre x-=fFare epmrem sy FoFnes Tiewd afedms 39 |
[Derive the expression for work done for extension x of spring with springconstant k. ]

(¥) SO0Kg O “bf6 T 20m THLS BIAR & FOIEG F67

[Calculate the work done to left five sack of 50kg each to 20m height.]
SY | SEE YOI T TAR «F AT 3677 9 2R Tege @ S AY Ff%a Fraa A 749
[Describe Young's experiment for interference of light and explain the causes of formation bright and dark fimges. |
3| (F) e (527 AR GFI AT SAA T AqH 6 7|

[Describe the experiment determining the wavelength of monochromatic light by plane grating,]

(%) @ @ftr-a7 efs EFBRGTaa vt 4500 | oS ffirza I6fFm a7 @ 300 == Gfean
SR SR9A4T 92 [A grating has 4500 lines per centimeter and the diffraction angle is 30° Second
order spectra. Calculate the wavelength of sodium light ] [
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